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Ngay thang: Diém:

Tén:
2 1
5.6+Z—4x5= 3-5,5-3x— =
9 3 2 6
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| 3 2
4,4-3,9x3— = = 2,7+> x4-2=
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T ligosi3e SN R
5 3 2 6 5
2 1
5,3+3,6+5><§= §+2,1><3—4,5=
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Tén Ngay thang: Piém:
2 206 11 1
v L axs5=(-2y= (-13— —5.5-3x —=(—
5,645 -4x5=(-75)= (135 3-55-3%2=(3)
+ 8 X ;4—5><1—19 1+9><37;3+2><24—241—161
' 6 3 6 o ’ 15 15
1 229 19 2 151 1
4.4 — e = (- = (72 27+ x4 ="""=5_
473,9x3 = 3= (355 = T5) T 32473735 Ty
1 1 3 83 3 1 3 6l ]
2 X t4—5x 2= (—2) = (-8 21— x4+2=- =0
5 3 5~ 010 = C8yp) 6 5 30 30
2 109 9 1 2
+ + -—=—=10— —+2,1 —4,5=—=2—
334364 5x5=15 =107 372137457 15 7243
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